
2128 2128

4296

40
24
00

60
0 80
0

70
0

70
0

60
0

20
0

10
0

24
00

170

24
00

60
0

4296

ScaleChecked by

Drawn by

Date

Weight

@A3

Serial Number Revision

General Comments

Materials

Item Quantity

Email: sales@hermeq.com

Component Description 

 1 : 20

IN-GROUND HOARDING - 2400MM

30/10/2023

JT

Checker

SW587911
N/A

Powder Coated Mild Steel

SW0637 TOP HAT BRACKET & M10 BOLT 4

See Our Associated Accessories:
https://safefence.co.uk/steelwall-internal-posts.htmlIn-Ground Corner Post
https://safefence.co.uk/steelwall-hoarding-post.htmlIntermediate In-Ground Post

https://safefence.co.uk/steel-wall-calculator.html

SW0820 STEEL WALL INTERMEDIATE IN-GROUND POST 1
SW3000 STEEL WALL PANEL - HEIGHT 2400MM 2

https://safefence.co.uk/heavy-duty-mesh-vehicle-gate.htmlIn-Ground Vehicle Gates
https://safefence.co.uk/steelwall-pedestrian-door-panel.htmlIn-Ground Pedestrian Gates

No. Description Date



ScaleChecked by

Drawn by

Date

Weight

@A3

Serial Number Revision

General Comments

Materials

Item Quantity

Email: sales@hermeq.com

Component Description IN-GROUND HOARDING - 2400MM -
INSTALL GUIDE

30/10/2023

JT

Checker

SW587911 -
INSTALL

N/A

Powder Coated Mild Steel

SW0637 TOP HAT BRACKET & M10 BOLT 4

See Our Associated Accessories:
https://safefence.co.uk/steelwall-internal-posts.htmlIn-Ground Corner Post
https://safefence.co.uk/steelwall-hoarding-post.htmlIntermediate In-Ground Post

https://safefence.co.uk/steel-wall-calculator.html

SW0820 STEEL WALL INTERMEDIATE IN-GROUND POST 1
SW3000 STEEL WALL PANEL - HEIGHT 2400MM 2

https://safefence.co.uk/heavy-duty-mesh-vehicle-gate.htmlIn-Ground Vehicle Gates
https://safefence.co.uk/steelwall-pedestrian-door-panel.htmlIn-Ground Pedestrian Gates

No. Description Date

GROUND LINE

STEP 1: STEEL WALL 
INTERMEDIATE IN-GROUND 
POST TO BE DRIVEN 600MM 
INTO THE GROUND

 

 
STEP 2: STEEL WALL PANEL TO BE 
BUTTED UP AGAINST 
INTERMEDIATE IN-GROUND POST

STEP 3: TOP HAT BRACKET & M10 BOLT TO 
BE SECURED TO INTERMEDIATE IN-GROUND 
POST THEREBY SECURING THE STEEL WALL 
PANELS AND THE POST TOGETHER

MINIMUM OF 3 TOP HAT BRACKETS & M10 
BOLTS REQUIRED. 4TH TOP HAT BRACKET & 
M10 BOLT IS THERE TO PROVIDE 
ADDITIONAL STRENGTH AND RIGIDITY - 
SITE CONDITIONS TO DETERMINE IF NEEDED

STEEL WALL PANEL - HEIGHT 
2400MM (SW3000)

TOP HAT BRACKET & 
M10 BOLT (SW0637)

STEEL WALL INTERMEDIATE 
IN-GROUND POST (SW0820)


	SW587911 - IN-GROUND HOARDING - 2400MM
	SW587911 - INSTALL - IN-GROUND HOARDING - 2400MM - INSTALL GUIDE

